Ratio to Pythia 8.308 default
[N

0.5

7000 GeV pp

I | I
Y (ttbar) (pTtt > 50)

—a— Pythia 8.308 default
----- ¢ Sherpa 2.2.9 default

Top (parton level)
| | | ]

— | | | ] | | | | | —
— T S I | 1 T B 1 1 I 1 1
L 8] 8E 2 5 oE o ¢ T oo : - : —
— - 53 88 3 5 § © ; R 8 BB & : I : ]

A oo 2 8 2 B N

V. SRR I AR

i R [ - . iw —
- o . oo ] : . s H O . —]

T %8 3 5 i R P

e o - [ 1 won
- $ B8 3 B3 a8 oY Sy —

HER 3 %8 & 6: u 5 2 § : i

H 5 38 8 33 " . R

[ P oo T o - . A it

FR) . K . . . t . o . - e L —
— i 5 38 5 858 :- o B 5 85

’ Voor oo N Lo S

4 588 8 88 i 5 &8 : i

2 2 HEE S v Lo ]
L L ’l = L 1 K 1 1 HEEl EEE ] 1

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


